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1 TRE o Hetd e oAl 3 M12 5(E3) IR 60,000 70,000 40,000 50,000(  Qlst 215}

2 AfolER [=R=] Metd = oAl etsAM1d 118Hs) stE 40,000 50,000 40,000 50,000 H=glg | HE8lS
3 ME oI =1 Mt e oAl AT 2 235-11(A2 ) AT E 50,000 60,000 50,000 60,000 H=8ls | s
4 g5 2 24 Heted e oAl AH3Z 35(83) stE 70,000 100,000 50,000 70,000[  QIs} 215}

5 SHEF 2 Hetd: oAl A EE22 16(95) & 130,000 170,000 50,000 80,000,  2I5} oI5}

6 A S El =R=] Metg e oAl A|H3Z 35-6(35) ElE= 70,000 100,000 50,000 60,000{  QI5} 2lIst

7 N = L= Hetde oAl AIE3Z 35-6(343) stE 70,000 100,000 50,000 60,000{  QI5} oI5t

8 = oAt =R= HeEtd e oAl A[EE32E 13(83) ElE= 80,000 90,000 45,000 55,000  Qlst 215}

9 OHSHE R Hetd e oAl A ES3Z 12-15(%8) gE 55,000 60,000 50,000 55,000 oI5t 215}
10 A E oE HMEPH T oAl A|H 522 22-1(85) IR 70,000 100,000 45,000 80,000  QId} olst
11 SEE2QMHE oEl MEIL T O$A| ASE 231(ABE) E=R= 50,000 60,000 50,000 60,000 H=82 | HEUS
12 MY =R=1 Metde oAl &3 M12 13(HS) RS 50,000 50,000 40,000 45,000 Qls} oI5}
13 AdI=sH 2 Hetde oAl A8 &322 33(%5) stE 45,000 60,000 45,000 50,000| HE8IS oI5t
14 oezg oY HMEtE e oAl A|IHS2Z 36(2H3) IS 40,000 40,000 40,000 40,000 HEglE | HE8E
15 Ao [=R=] Mete s oAl A|A3Z 35-14(8HE) ElE= 70,000 80,000 60,000 70,000[  QIs} 215}
16 Lt 2 AR 2 S & Sl Metd e oAl AIHAM6Z 3 (85) s 80,000 110,000 80,000 120,000 HEAUS ol
17 H|L[7|OF= & O] == oH Hetd e oAl A EAM6Z 19 (&S) Bl 97,000 117,000 97,000 117,000) HEgl= | B2
18 ol ExHE oE Matd= oAl A[HE32 30-7 (8H8) Bl 50,000 60,000 50,000 60,000 H=8S | HEUS
19 O =8l H| X| = & S | HEtEE oAl A[EM6Z 5 (55) BES 60,000| 100,000 60,000 70,000, HEUAS oI5t
20 2oL S | MetHE oA AlEMeE 11 (3HS) sts 60,000 80,000 o5t olgt SAE
21 AMORT = & S | MEIHE oAl AIHA6Z 23 (BHE) BES 80,000[ 140,000 80,000f 140,000 HEE S | HEUS
22 Lid| &= = =9 (HEtHE oAl A|ES3Z 35-12 &5 50,000 50,000 50,000 50,000| HEQS | BEYUS
23 S 2E  |MetEE oAl S44EHT7E 11-20 BME 70,000 90,000 40,000 50,000,  QIst ols}
24 x| g =@ | HEt"E oAl Al8AM6Z 13(33) s 60,000 70,000 60,000 70,000 HIBlE | HEUS
25 etz A o MEIHE oAl A1 44 (A3 E) Ek=R= 60,000 120,000 60,000 120,000 HEQUS | HEUAS
26 S HtheZ Al L=l Hetd e oAl AHS 32 30-5(83) Bl 50,000 60,000 50,000 60,000 H=8S | HEUS
27 MK S & [=1=] Hatd s ofAlA|HA5Z 16(3HE) stE 50,000 70,000 50,000 70,000 HE2US | HEBUS
28 A AE| 2 Hetde oAl A& 32 30-2(23) st& 50,000 60,000 50,000 60,000 H=gls | s
29 gtz g R HEtEE oAl A[ES32 30-3(23) st& 60,000 80,000 60,000 80,000 H=8lZ | HEUS
30 OfYE 2E |TEtHE oAl AIEAM5Z 26 (813) ElE= 40,000 50,000 40,000 50,000 H=8l2 | B82S A R T
31 MWAERS AH e (MElHE oAl 2512 40 1= 60,000 110,000 60,000 110,000| HEeUS | HES8U=S
32 M= H 2E |MEtHE oA A|H 522 30(8HE) stE 50,000 130,000 50,000 80,000| ¥=8la oI5t
33 SfAH|7tA D E 2 FEtdE oAl SF3E 3(BFS) s 40,000 60,000 40,000 60,000 | HE3US | HSBUS
34 HE oI =R MEtHE oAl Z22 48-7(EE5) o 60,000 120,000 40,000 100,000 olst 215}
35 M 2d MEtHd e oAl SF4Z 5(53F3) R 50,000 70,000 50,000 60,000 | HEUS 215t
36 A 24 MEtde oAl SF2Z 8(FFS) s 30,000 40,000 30,000 40,000 | HEQUS | HEUS
37 SHEf X} & o Hetde oAl FR12 36(FF3) d2s 40,000 50,000 40,000 50,000 | HE2US | HEBUS
38 2 H ol Eatal =4 HEIHE oAl A E 20(HES) H5s 180,000 180,000 140,000 180,000 oIS} HESAS
39 o2 EH =4 HEtEE oA B2te|d 99(HE ) HES 120,000 220,000( 120,000 220,000 | HEQUS | HE8US
40 I HAN Hetde oAl B2 383(HE53) 553 80,000 150,000 60,000 150,000 215} HES S
41 ol AHE = H HMete e oAl BUE 40(EHES) 455 80,000 150,000 80,000 150,000 | HESS | HSES
42 Of2|Ot= A&l =g=] Mt oA UAZ 185(HFE) HE5s 190,000 210,000 80,000 150,000 oISt kel
43 HfCp 2 &l oE MEtLE OfA| A2 213(EHSE) HE& 30,000 30,000 30,000 30,000 | HEQUS | HEUS
44 =SciiisH oY MeEtdz oA LEEZR 75(3H ) +8s 50,000 70,000 50,000 70,000 | HE8lE | S
45 HSEHE = E=g= MeEtdE oA LEER 74(3H8) =85 60,000 120,000 60,000 120,000 | HESBQS | HESBUS
46 TRdtA D HE oE MEt"d e oAl REEZ 61-14(3™E) | ™S 60,000 90,000 70,000 90,000 ole HE a2
47 U E [=R=] MY oAl LEEE 61-6(3HE) +=H8E 40,000 60,000 40,000 60,000 | H=s3S | HEYUS
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| Hf 2t 2 & 2g MEtHE oAl ASHSH2ZE 13(35) stE 80,000 80,000 60,000 70,000 oI5t
ot E oY HeEtd e oAl ASMHS 22 15(83) stE 45,000 50,000 35,000 40,000 oI5
EL DIA 24 Hetd e oAl ASHSH2Z 19(8S) stE 90,000 140,000 80,000 120,000 oI
GIESLR= 24 MEtd e oAl ASHSHTZE 8(&Hs) stE 80,000 80,000 60,000 70,000, QI3 oIS
Ug|= == Matd s oA SUSAZ 13-15(A2HH) IR 80,000 100,000 60,000 60,000 QId} oI5
JEH 2 Hetd e oAl ASMS/U1E 6-4(83) stE 30,000 40,000 30,000 40,000 HaEgls | B2
B&PZ &l 2E  |MEPHE OjFA| MAR15-4(8HE) stE 50,000 70,000 50,000 70,000 Hsgls | HEdE
D E A 2teAH| O 2E |MEtHE oA 522 30(HS) ElE= 120,000 120,000 50,000 70,000 QI3 oI5
E=S DN g 2E  |MEHE oA ASMSE1E 26(25) EIES 50,000 50,000 50,000 50,000, H=ols | HEUS [Ys
&l o 2E  (MEPHE oA 522 15(8S) &5 60,000 60,000 50,000 50,000{  QIst oI5
o 2 R (MEtHE oAl StEM1E 16-6(2%3) Bl 70,000 70,000 50,000 60,000, Qs 215
HEZHE 2E |MEHE oA ASMSEZE 14-1(ES) s 25,000 25,000 25,000 25000 HESQUS | HESUS
B S = g (MY E oAl sHE2 23(8HE) stE 60,000 70,000 40,000 50,000  Qlst oIS
THE B3 & e (HEHE oAl MAE 41(EHE) s 110,000 110,000 50,000 70,000, QI3} oI
6&9 2l [=R=] Hetde oAl J43Z 21-10(2HE 3) otEE 50,000 60,000 50,000 60,000 H=8S | HE2US
FLzg 24 Meted e oAl QA3 21-6(2HES) oEE 50,000 60,000 50,000 60,000 HEQUS | HESUS
SHEM Y 2 E HEtEE oAl GA3Z 21-3(2HES) otEE 60,000 80,000 60,000 80,000 HEQS | HE2US
2|2 A == HMete s oAl HA3Z 24-7(3HALE) CIPSES 35,000 35,000 35,000 35000, HEQUS | HEUS
S "y 2 HEtE T oAl GABZ 2421 S) oIS 50,000 60,000 50,000 60,000 HEUS | HESAUAS
ofz| 2 2 HEtHE oAl GA3Z 21-4(2HE3) oY= 50,000 60,000 50,000 60,000 H=gla | s
X|O| F QI D& HEtE e oAl G432 24-8(2tES) otEE 50,000 60,000 50,000 60,000 H=8l2 | HEUS
OfEF QI 2 Metde oAl M43 21-5@HS) otEE 50,000 60,000 50,000 60,000 HEUS | HESAUS
of| A 24 HEtd e oAl FH6Z 43-4(H33) MEAS 50,000 70,000 50,000 70,000 WSS | HEUS
7tete g 2g HMEtEd e oAl FM6Z 42-4(M33) MAUS 40,000 50,000 40,000 50,000 H=8l2 | B82S
MERE oY Metede oAl FM6Z 42-3(M3S) MAS 50,000 50,000 50,000 50,000 H=gl2 | HESUS
2ol 2 Hetd e oAl G4 Z 8-4(2HES) oS 40,000 50,000 50,000 60,000{ QI ol
ML AR ol oH Meted e oAl QA3 21-17(@HES) otEE 50,000 60,000 50,000 60,000 HE8S | HE2US
YLEQITH 2 E Heted e oAl J432 21-11(3HES) otEE 110,000 110,000 110,000 110,000 HEglE | HE8lS
ojAaKEM NS E == HMatt: of2A| AA3Z 21-15(3H&HE) s 60,000 80,000 60,000 80,000 HEQUS | HEUS
SEgap g HElHE oAl 258 190-6(253) =TS 60,000 80,000 60,000 80,000 H=gls | HE8lE
ofgj|Az & o HMEtEE oAl 242106, 65,75 (25 S) ZTE 50,000 60,000 50,000 60,000 H=8l2 | HEUS
EZAERE 28 | HatEE oA OfM1R 95-9(0M5) OlM S 50,000 60,000 50,000 60,000) H3BlE | HSBS
R&BH|=L| AT H == HEtdE Al 252 58(2F3) ZTE 75,000 95,000 75,000 95,000 H=82 | HEUS
A== 2 E HEtEE oAl 0212 39-14(0M3) M= 60,000 70,000 60,000 70,000, H=sgs | HEUS
SOl F ol & L= HMEtHE oAl 22122 84(2F3) ZTE 50,000 60,000 50,000 60,000 H=8l2 | HEUS
SRS g 2 HMetd = oAl 6212 43-17(0 A S) qMs 50,000 60,000 50,000 60,000 H=8S | HEUS
MJZHE 2 Hetd e oAl 2222 76-1(253) | =T 60,000 80,000 60,000 80,000 H=8lg | HELS
i E=a= [=R=] HMEtEE oAl 0212 43-21(MS) M= 50,000 80,000 50,000 80,000 ¥=gla | Ha2s
g2 L=l Metd = oAl 0212 43-13(0 A S) TTE 50,000 60,000 50,000 60,000 H=8Z | HEUS
AREoH 24 HEE3HE 69(HME) oME 50,000 60,000 50,000 60,000 HEQlS | SRS
G2 H 2 E O 212 43-7(0{ M 5) qMS 50,000 60,000 50,000 60,000 HE8S | HE2US
KIZE 28 (H2tEE oAl 2222 33(ETS) 25E 80,000 80,000 50,000 60,000, 215 oI5}
252 2E  |MEtHE oA 022222 65(2T3) ZTE 50,000 60,000 50,000 60,000 H=8S | HE2US
k=== 2 |MEtHE oA G112 95-8(0{ A5 CPSES 50,000 60,000 50,000 60,000 H=8S | HE2US
Kotz & 2 (NMEtHE oAl S4ET7E 11-1084ts) | S44E 50,000 80,000 50,000 80,000 ¥=gla | s
St L2 o (MR oAl S4EHT7E 11-1184s) | S4E 35,000 40,000 35,000 40,000 HEglZ | HS8E
LHZ2|HM HM | MEEE oAl SAS ZIFS|OHE 68 SME 130,000 180,000 80,000 180,000 QI HEAS
ZEZY 2 (NMEtEHE oAl SAHEH6Z 11-18(84ts) [ S4& 40,000 60,000 40,000 60,000 H=8la | Hada
agze Y (HElHE oAl SLHEH8E 17(34S) N 40,000 50,000 40,000 50,000 H=8l2 | B82S
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97 AHOH XL ADH SE  |MEtHE oAl S4HE8E 17-15(848) | s4s 72,000 110,000 72,000 110,000 Hs =
98 Woj| =2 & 2 Metg = oA S4HE7Z2 11-15(84H8) Sits 30,000 35,000 30,000 35000 =82 | HEUS
99 H| 72 E =R Metg e oA S4HE7Z 11-24(844H8) SitE 35,000 40,000 35,000 40,000 HEgls | B82S
100 [od 2 (FEtHE oAl SLtHEZ 7(E4S) S 50,000 60,000 50,000 60,000 HE8S | HESUS
101 o7& oY Hetd e oAl SUEHT7Z 8(348) atts 40,000 50,000 40,000 50,000 H=gl2 | B82S
102 NeADHE 24 Hetd e oAl SAU4EHT7Z 13(84S) Stts 50,000 60,000 50,000 60,000 H=8S | HEUS
103 gL [=R=] Metde oAl 84HEH8Z 11-16(84H8) Sits 30,000 35,000 30,000 35000 HEgls | HEtls
104 HAE OfF 28 |HEtHE oA SLHEZE 13(34S) N 120,000 150,000 120,000 150,000 HEglg | HE8lE
105 H L A2 E 2E |MEtHE oA S4td6ZE 17-7(84tHS) N 35,000 40,000 35,000 40,000 HEglZ | HS8S
106 Ojgz= 2 |MEtHEE oAl S4tH6ZE 11-15848) | 4 40,000 50,000 40,000 50,000 H=8l2 | B82S
107 sz HM HM (MY E O5=A| SR Z 78(F3tsE) 53t 60,000 150,000 60,000 100,000, HEAUS oI5
108 Of == H| X[ & HM |HEtHE oA StE R 64(52ts) 5ats 130,000 150,000 70,000 110,000,  2I3} 215t
109 Cretm & 2E (FEtHE oAl S2E22 13(8323) S%s 35,000 60,000 30,000 50,000 QI8 oIS
110 dHE #EsH S |MEtHE oA S3HEH2Z 20(3 %) 335 80,000 80,000 HE =S
111 SHEOH| S S |MEtYE oA QB2 20(23}E) 335 80,000 130,000 80,000 120,000 HESUS oI5
112 O FINNAAESIRA | A2ESIRA|MELHE OlF=A| S2HH2Z 16-1(32ts) Sots 30,000 50,000 30,000 50,000 H=gl2 | HESUS
113 WD H 28 |MeEtgk A=Al S22 8-1(5%s) S 30,000 50,000 30,000 50,000 #HEElS | BSEUS
114 CHEHASESIR A 24 [HMElHE oAl 3324 15-1(828) 3% 35,000 50,000 35,000 50,000| HEgls | HE8a
115 ElclE 2E |HefEk oAl S2=22 15(52s) sots 40,000 70,000 40,000 70,000 HsEls | HEES
116 eod e (MEtEE oAl 38522 25-1(38E) | 385 30,000 50,000 30,000 50,000, BEQS | HEES
17 ZEARE 2E |HEEE A SER 87-1(328) S5 35,000 50,000 35,000 50,000 HERS | HSHUS
118 =225 HM  |MEtHE oAl S4S AFZH 9 Stt= 110,000 160,000 70,000 110,000 QI8 215
119 SHECEHHIM HN  (HEtHE oAl E4t5 ZEHBHeE 85 =it 60,000 70,000 50,000 70,000, QI3 Hs S
120 SHX| Sz AHHM HN  ([HEtHE oAl SitE TIFSCHE 76 =it 95,000 155,000 75,000 155,000, QI3 Hs =
121 CEHETHE S |HEtHE oA S4E 4E5letz 93 =S 50,000 120,000 50,000 120,000 HEglEg | HE8lE
122 2tojcts gl s |MEIEE oA SALS ZHE 11 EAMS 110,000 310,000 100,000 250,000, 9I3 oIS
123 Yoz ™ HM  (HEtHE oAl 245 TFtZE 9 =ME 89,000[ 139,000 89,000f 139,000 HMESYUS | HESAUZ
124 AFeod HM |MEtHE oA S4tE 4EH42 53 =i 50,000 50,000 50,000 50,000 H=gl2 | B82S
125 HEMHEMN HH Hetd e oAl AR 2(F%S) 5t 278,000 420,000 210,000 280,000  Qlst oI
126 X|EEHM HAH Hetd e oAl OF=AE2 1(52s) Sats 380,000 380,000 160,000 200,000f QI8 oI5t
127 o= &2h153 HM HMEHE Of4A| Ol A BRE 202 35(3%5) | B33 490,000 490,000 230,000 380,000 Qs oI5
128 Ctojotz & 2 |HEtHE oAl REsH1Z 6-3(13) mE = 50,000 80,000 40,000 70,000 915 ke
129 A 70| 2 & oY Hetd e oAl WSEH1Z 5-518) ns 90,000 90,000 60,000 80,000, ¢Qls oI5t
130 W7t 28N HM |HEtHE oA SHEZ 66(52tS) 5ot 259,000 269,000 144,200 192,200 QI8 oI5
131 ofz 23 & =R=1 Hetd: oAl USH1Z 6-1(1L3) mE= 60,000 70,000 60,000 70,000 HE2S | HEUS
132 2 E-E| 2d Hetd e oAl WSEH1Z 6-12(1-3) ns 100,000 100,000 50,000 80,000|  QI5} oI5t
133 SE THE L == HetdE oAl O|=ABHE 135(B2s) 5t 220,000 220,000 99,000 220,000, Qs HE S
134 LAAESIRA Axgstes | MEtHE OlFA| S22 2-2(8Y5) TYS 25,000 25,000 25,000 25000 HEBlE | HEUS
135 S OHAHCHE A HM  |HetHE oAl OB E 159 (BYSE) | TYS 200,000 260,000 150,000 240,000, It 215}
136 QO|Ct HAE BIRA |ALAESRAIMEIHE OlFA| S22 1824 F) Rt 25,000 25,000 25,000 25000, BSOS | HEUS
137 ez 2E  |MEtHE oA SYE 72-21(3YS) SUS 70,000 70,000 50,000 70,000 215 HE =S
138 Of <=0l 4 HM et R oAl 52 = 60 (52 53t 120,000 220,000 120,000 220,000 HEgls | HEbla
139 sty E2d Hrestex | MEtH T O{Al WSH1Z 5-41S) me= 110,000 110,000 60,000 90,000, ©QIs oI5
140 EMzg 28 |MEtH kR oAl D|E9Z 10(0|ES) OjEs 50,000 60,000 40,000 50,000 Qs oI5t
141 T2 2E |MEHE oA B4 53(LES) RE=s 60,000 80,000 40,000 50,000 QI8 215
142 SFHO| 2 & 2E |MEHE oAl B4 55(E ) QEUS 60,000 80,000 40,000 50,000 QI8 oI5
143 =0t 2 (FEtHE oAl RE4ZE 542 S) QES 50,000 60,000 40,000 50,000 QI8 oI
144 AELZH oY HMEtHE oAl B4 59(2ES) REUE 70,000 90,000 40,000 40,000 QI8 oI5t
145 OloteAn 2 Hetd e oAl 2242 61(2ES) REs 70,000 80,000 40,000 50,000 QI8 215
146 Oote| =& =R=1 HEtd e oAl 2E2Z 12-6(2ES) RES 40,000 50,000 40,000 50,000 HEQUS | HEUS
147 2hH| o3 2 Mg s oAl 22022 12-4EUSE) REUS 40,000 50,000 40,000 50,000 H=gl2 | HE8S
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148 o722 2E  (HEtEE oAl 2E2Z 12(2ES) 2YS 40,000 50,000 40,000 50,000 HS S
149 g=22 2 ([HEtEE oAl 2E4Z 48(2ES) 2YE 40,000 50,000 40,000 50,000, HEQUE | HESRE
150 EdAzE™ 28 | HEtEkE oAl 832 121(E493) =43 40,000 50,000 40,000 50,000, HEQE | HSBlE
151 EELE 2% | Metdk: oA 2932 141(EH5) £HS 40,000 50,000 40,000 50,000 #HEElE | HEBS
152 S 28 | "2t oA EE83E 6-1(EHS) =495 40,000 50,000 40,000 50,000 #HEES | BSEUS
153 APERE 22 | HetEE oAl £532 6-21(E9S) =495 30,000 30,000 30,000 30,000 H3BlE | HEBS
154 CCK 22 | Metdk oA 28229 RYS 30,000 40,000 30,000 30,000 HEYS oI5




